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5.1 b0 OfFFSE0PI

1. d(InGDP - InKg) ; 4 EERI%K

obs 1410
R2C 0.24
#eEHEAR [1981-2010

2013 EHEFEFER
iE3: g

Constant 0.002 0.858
d(InKp - InKg)

0414 11.577 |xk%
—RBE 1T B,
d(InL - InKg)

0.526 11.889 [*¥%
—REEBI1ET S,
Okidum- d(InKp = InKg) -0.101 -0.388
Okidum-d(InL — InKg) 0.119 0.789
DLS -0.007 —-2.396 |**

(%) woex 1N KETHE, #x: SUKETHE., % 100KETHE, UTHE

2. Cpn/Yzfk; JHE LR

obs 1410
R2C 0.96
#EEtEAR [1981-2010
2013EEHTEHR
3 tfiE
da1980s 8.630 21464 [x*% JtimE
7.793 22.382 [x¥x =58
7678 22263 [kk AEFR
8036 22.264 |xkx EHE
7.530 22.202 [x¥x HEE
7.498 22060 [skk iR
7.827 22.115 [xk% =EE
7570 22.040 |%kx RR
7.332 21.944 |xkx HARE
7.249 22.009 [x** HEE
8419 22.202 |kk HEER
8.258 22223 |k FEE
8.740 22,013 |sokx R
8.580 22.208 [kk BWEINE
7.967 22.175 [x¥% Fmae
7278 21.294 |k s
7.449 21.713 [kx AINE
7.058 21.244 [x*x BHE
6.561 21.606 [skk IS
7.310 21555 [x** EHE
7.533 21.861 [xkk It BB IR
7.970 21.943 [wkx FRiE 2
8494 22,051 [wkx FHE
7.349 21,683 [sokk =88
7.099 21.355 |kx HER
7.627 21583 [kk SR AT
8627 21.844 [kk ABRAF
8013 21587 |k EER
7.231 21532 [xkk =RE
6.840 21.197 [sokx MR
6.934 21.346 |k SmE
6.918 21.171 [k BIRE
7.660 21,605 |xkx ] LR
7.935 21,688 [#kk N1
7518 21555 |%kk wAg
7.236 21465 [x** mEE
7.396 21.486 [#k* F)NE
7.620 21.650 %ok ERE
7.175 21.399 [x*% SR
8.341 22,049 |%kx a8
7.155 21.987 sk EER
7.630 22.243 |k RIE
7.609 22.083 [kx AR
7479 22187 |wkx AHE
7423 22232 [skk =R
7.587 22.213 [wkx EREE
7117 19.653 [k IhERR
Oldrate*da1980s 6.066 5076 |k dtimE
6.253 10.729 [*#x Fit
11.834 14.252 [#kx EEY
8279 9.804 |k JepE
9.675 11.346 [*#x thif
10811 12,277 [#x piig
7.465 10.488 [*#x hE
6.674 8.564 |wkk mE
6.830 10.110 [k S
12.334 5936 [**x pirc
d(Oldrate)*da1980s -15.214 —-3.527 %%k
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2013 FEEHTEHE
£ &
da1990s 9217 22.820 [+¥x JtimE
8.441 22932 [Hkx BHE
8.429 22.787 [¥%k EFE
8.762 22.775 [¥%k =HE
8.324 22.861 [¥%k AR
8.369 22.640 [*%% Wiz
8.635 22727 [%*% =EE
8.888 22638 [*¥k kI 12
8673 22633 ¥k N
8.662 22676 |4k HEE
9.422 22617 [#xx BHEER
9.356 22,677 [¥¥* FEE
9.847 22.831 |Hokk HRHR
9.584 22,623 [¥%k HWENIE
8.795 22701 [sokk FRE
8431 22.885 [#¥% =8
8484 23.107 [#%k RBIE
8.225 22.910 [+¥x BHE
8.181 22.634 [#¥x I
8.697 22570 [Hokk EHE
8.607 22555 [¥¥k I B2 IR
9.008 22591 [¥%k FhiE 2
9.388 22.615 [#%k BHE
8583 22578 [#¥x =58
8.466 22549 [*x% HER
8.903 22.785 [%¥% SET
9531 22.704 [#¥x KBRAF
9.189 22474 [%¥x EEE
8.463 22510 [Hkk ZFRE
8.307 22759 |Hkx Mg
8044 22520 |skk SmE
8.100 22.312 [¥%k BiRE
8.722 22.567 [#%k FE LR
8.840 22451 [#%% LBE
8542 22475 [*x% =]}
8.156 22569 [*¥* mEE
8.346 22538 [#¥x EFNE
8514 22591 [*kx ZRE
8.156 22.655 [*¥x BHE
9.159 22.817 |Hkx tEfE R
8.104 22.751 [¥%k EBE
8.463 22.951 [¥%k RIBE
8587 22.861 [%%% BEAE
8412 22.869 [*%k AHR
8315 22.846 [*x* =I5 E
8577 22873 |#okk EREE
8.155 22.857 |*kk R
Oldrate*da1990s -0.274 -1.265 dtiEE
-0.101 -0.734 ik
-0.065 -0.443 ESES
-0.365 -2.155 |k JbpE
0.081 0539 aa-i
-0.209 -1.346 plin 3
-0.358 -2.008 [k fE
-0.290 -1.593 meE
-0.251 -1.531 Ju
0.818 2.385 [¥x Pk i
d(Oldrate)*da1990s 0411 0213
RMedAD 0.732 4.949 ¥k
Cpn(=1)/Yzfk(-1) 0508 25.658 |Hkk
In(Yzfk) -0.544 | 21734 |k%
d(ctax) -0.330 -1.893 [
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3. Ip/Kp(-1); REAGXERRE

obs 987
R2C 0.90
#EHEARS [1990-2010
2013F EHFHER
®E% tfiE
Constant -0.015 -0.988
-0.023 -2.027 [
-0.044 -2.543 %%
-0.042 —4.058 | ++*
-0.051 —3.036 | ++*
-0.029 -1.754[*
-0.022 -2.066 |+
-0.031 -3.262 [oxx
-0.040 —3.676 | ++*
-0.035 —2.968 | #+*
-0.032 —3.408 [ ++*
-0.022 —2.612 [*kk
-0.031 —2.914 [k
-0.023 -2.336 |*x
-0.017 -1.872|*
-0.038 —3.254 | #%*
-0.047 —3.956 | #k*
-0.047 —5.015|%%*
-0.020 —2.119[**
-0.066 -3.186 [xxx
-0.021 -2.074 %
-0.034 —3.033##%
-0.050 —4.358 | F%*
-0.013 -1.243
-0.020 -1.580
-0.033 —3.165 [xx
-0.025 —3.142[oxx
-0.009 -1.020
-0.025 —2.815 | ##*
-0.044 -2.444 %%
-0.020 -2.053 [
-0.025 -1.919(*
-0.031 -2.237 [
-0.052 —4.751 |#%%
-0.044 —2.785 | #%*
-0.032 -1.559
-0.038 —2.967 [oxx
-0.018 -1.686*
-0.027 -2.031 [
-0.045 -3.361 [oxx
0.005 0.524
-0.020 -1.778]*
-0.035 —3.482 %k*
-0017 -1.462
-0.057 -2.416 [
-0.019 -2.220 [
-0.027 ~1.695|*
db 0.000 -0.064
-0.009 —2.875|*¥x
-0.004 -1.268
-0.009 —3.241 [oxx
-0.001 -0.498
-0.004 -1.504
-0.003 -1.163
-0.006 -1.936*
-0.005 -1.714[*
-0.005 -1.849[*
-0.010 -3.169 [oxx
-0.008 -2.355 |+
-0.008 —2.759 |##*
-0.005 -1.564
-0.006 —2.037[**
-0.006 -2.123 |
-0.004 -1.415
-0.015 -4.893 [oxx
-0.007 -2.337|%*
-0.002 -0.629
-0.004 -1.551
-0.006 -2.128
-0.013 —4.615 k¢
-0.004 -1.195
-0.003 -1.015
-0.008 —2.625 | #%*
-0.008 —2.668 [%x*
-0.002 -0.687
-0.003 -0.856
0.004 1.307
-0.006 -1.952|*
-0.004 -1.290
-0.004 -1.460
-0.009 —3.122 %k
-0.003 -0.985
0.001 0.481
-0.004 -1.260
-0.005 -1.758|*
-0.005 -1.678[*
-0.007 —2.242 %% 18R R
-0.002 -0.667 EER
-0.005 -1.647|* RIFR
-0.008 -2.506 |+ BEARE
-0.008 —2.756 |k DR
0.003 0.998 iR
-0.006 -2.033 [ BERBR
-0.003 -1.125 SRR
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2013 FHFHRER
% tE
Kpprod 0.179 2557 [%* dtimiE
0.289 4.986 %% EHE
0.384 3.881 %Kk EFE
0.338 6.670 *kx =HE
0424 4.679[**x MER
0.322 3.422 | Wi
0314 4556 %% BER
0.346 5.879[#kx FHR
0.381 5.950 [#kx HAR
0.341 5.140 %k HEE
0.265 6.293 [ *kx BEE
0.256 5.573 %k FEE
0218 5598 [¥*x R
0.243 5005 [#kx WE)R
0.253 4,640 %% ae
0.368 5.162 %k =
0.348 6.228 %k alE
0.462 7.376 %% =BHE
0.246 5.231 %k ITET
0.521 4430 [Hk% EHE
0.245 4.512]%xx ]
0.330 5222 [#kx #RME R
0.452 6.976 %k BRIE
0.287 3.976 |oxx
0.245 3.456 |k
0.270 5.729 [oxx
0.253 6.659 [+xx
0.206 4.421 %%
0.230 5.807 [oxk
0413 3.696 [+ LR
0.226 4.630 %k ]
0.271 3.675 %k BIRR
0317 3.746|+xx FE LR
0.500 7.732|Hxx LER
0.470 4117 %5 M=]:}
0314 2.734 %% mEE
0.356 5024 [#kx EFIR
0.248 4,058 [#kx FER
0.259 3.900 [*x Sme
0.351 5.354 %% 2R
0.129 2.707 [**x EER
0.249 4.257 [#kx RIEE
0.324 6.381 %% AR
0.272 4.245[#%x APR
0.443 3491 %k BIEE
0.223 5.275 %k ERBE
0.240 3,608 *kx ShRE
EVD -0.0011 -0.385 dtiEE
0.000 0.116 it
0.002 2.733 %% EEd
0.006 3.702[ %% JeiE
0.002 1.857|* chER
0.004 3.456 | *xx E
0.004 3.538#kx hE
0.005 2.643 %k 2]E|
0.003 2972 [**xx FLi
0.001 0573 b ]
din(GDP) 0.040 6.290 [*x
LRATE/100-@pch(PGDP) -0.081 —5.277 bk
Ip(-1)/Kp(-2) 0.565 25.674 %k
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4. NetExp; #iFEH A

obs 423
R2C 1.00
HERHAIRY [2002-2010
2013FEHFERR
¥ tiE
Constant -3227859 -0.621 dtimiE
-1665477 -0.840 EHE
-1514249 -0.766 EFR
-1559523 -0.789 EHE
-1611876 -0.814 MER
-1554486 -0.784 Wiz IR
-1267529 -0.642 EER
-3165626 -1.391 RIWE
-3109448 -1.367 mARE
-3136340 -1.378 BER
-4939425 -2.134 %x BER
-4177391 -1.819]* FER
9730728 2.915 [k R
-4545692 -1.971 [%x BWENR
-1488355 -0.753 HRE
-562308 -0.183 I
-692348 -0.225 allg
-562611 -0.183 BEHE
-3397841 -1.492 IET
-3226177 -1.123 RHR
-3319056 -1.155 I R IE
-2655805 -0.930 FRE R
-1506490 -0.530 BHE
-3363118 -1.170 =58
-1280822 -0593 HER
-1755084 -0.807 SEERRT
925522 0.434 PN
-1516046 -0.700 EER
-1842880 -0.846 =RE
-1654649 -0.763 IR
-854325 -0.357 BHRE
-829043 -0.347 BIRE
-574299 -0.240 FE LR
-366928 -0.154 N1
-688992 -0.288 il=1=}
-1573208 -0.604 BEE
-1535305 -0.590 ENE
-1906935 -0.733 ZRE
-1921662 -0.738 EHE
-606867 -0.311 a2
-920747 -0472 EER
-1051956 -0539 RIFE
-1145121 -0.586 REXRE
-943673 -0.483 PR
-1170111 -0599 IR
-1250295 -0.640 BERER
-2031937 -0.382 il
WORLDMP*REXRATE -0.162 -0.330 tEE
-0.070 -0.377 ik
0010 0.060 S
-0.092 -0.323 ]
0.068 0.295 D
-0.127 -0.624 plig3
-0.146 -0.661 PE
-0.025 -0.100 mE
-0.173 -0.934 Ju
-0.078 -0.160 ik
GDPP(-1)-
(GDP(-1)-NETEXP(-1)) 0256 2898 e
GDPALLREG(-1) 0.006 0549 dtimiE
0.003 0.786 i
0011 1549 ESEY
0.002 0.261 JeBE
0.008 1.256 aaki
0.004 0816 plin 5
0.002 0.379 FE
0.003 0.661 7Y
0.002 0576 S
0.004 0357 bk i
NETEXP(-1) 0.354 4.855 %+
DLS -237930 —6.102[*okk
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5. Kp; REIERERR Y

obs 1410
R2C 1.00
H#EEHHARS  [1981-2010
2013 FEHFERHR
FH [ tfE
[s, 0.046 | 88506 |**x
Kp=(1-38 ) * Kp(-1) + Ip * Ip05to00
6. Kg; HREKXRbYY
obs 1410
R2C 1.00
HEEHHARS  [1981-2010
2013 EHTERE
R tiE
s, 0018 | 78.755 [#*x
Kg=(1-8,) *Kg-1)+1Ig
7. din(PGDP); GDPTIL—%
obs 1363
R2C 0.44
HESTHARS 11982-2010
2013 FEHFEHR
X tiE
Constant -0.324 —=10.911 [%*k*
GDP(-1)/GDPP(-1) 0.323 10.852 [#**
din(YWH(-1)/GDPN(-1)) 0.088 5.854 ¥k
din(PGDP(-1)) 0558 27516 [**x
D(CTAX) 0.623 10.152 [#kx

-87 -




8. ER; FiEE

obs 1316
R2C 0.99
HESTHARS [1983-2010
013 FEHFHR
£S5 tiE
Constant -0.096 0.011 ]k dtimE
-0.091 0.011 [k EHE
-0.086 0.011 [#k% EFE
-0.094 0.011 [k EHRE
-0.089 0.011 %4k FEE
-0.087 0.011 [kx w8
-0.091 0.011 %4k BEE
-0.093 0.011 #%x B3]
-0.091 0.011 [k HAR
-0.090 0.011 [#kx HER
-0.102 0.012 %% BER
-0.102 0.012%%* FrE
-0.086 0.011 [#%x HEER
-0.102 0.012 [k #WE)R
-0.089 0.011 [k HRE
-0.088 0.011 [k AT
—0.088 0.011 [Hkx BNE
-0.087 0.011 [k w'HE
-0.089 0.011 [#k% WHE
-0.087 0.011 [#%x EHE
-0.091 0.011 %4k I 218
-0.088 0.011 #%x BEE
-0.088 0.011 [k BHE
-0.091 0.011 [#k% ZER
-0.091 0.011 [k HER
-0.097 0.011 [k AT
-0.094 0.011 [k PN
-0.097 0.012%%* EEE
-0.102 0.012]#%% ZpE
-0.091 0.011 [#kx FELE
-0.087 0.011 [#k% BRE
-0.085 0.011 [#%x BiRE
—0.090 0.011 [Hkx [EfINESY
-0.091 0.011 |k LEER
-0.090 0.011 %4k I=]:}
-0.090 0.011 [#%x mes
-0.090 0.011 %4k EIE
-0.088 0.011 #kx ZIER
-0.090 0.011 [#%x L
-0.093 0.011 [#k% 2R
-0.087 0.011 %% EER
-0.088 0.011 [%#* Ei5E
-0.088 0.011 [k AR
-0.090 0.011 %k AHE
-0.088 0.011 [k HIFE
-0.088 0.011 [k BERBR
-0.090 0.011 [#kx HEBIR
GDP(-1)/GDPP(-1) 0.048 4,982 [%%x
(P1519+P2064)/POP 0.112 7.637 [k
ER(C-1) 0.942 93.470[%**
PDLO1 0.004 0.505
PDL02 0.020 2.044]%%
F7—EVS7O5H%  DEGREE=1 _ S.C=N E.C=N
2013 EHTEMHE
@pch(W)-@pch(PGDP)|__{&¥ tiE
1 (BT 0.004 0.505
2 QHAED 0.024 3.449 [Hx
&t 0.027 2.746 [#xx
9. @pchW); — A& 1=Y e A& Rl
obs 1363
R2C 0.42
HEETHARS [1982-2010
2013EEHTERER
£ +fE
Constant -0.010 -1.897 |*
@pch(PGDP) 0.605 16.322 %4k
ER 0.029 3.338 [HHx
@pch(W(-1)) 0.244 10012 [k
10. din(ZAISAN); BAEEFRS
obs 1410
R2C 0.27
H#ERTHEARS |1981-2010
2013 EHTEMHE
XS +fE
din(GDPN) 1272 20.894 [##x
D(LRATE) 0.061 13.873 [¥#*
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11. LRATE/100; A $H{E[EEEEEFIEY
obs 1363
R2C 0.71
H#EETHART  [1982-2010
2013 FFHFHER
3 tfiE
Constant -0.048 —2.244|** i
-0.049 -2.314[x EHE
-0.049 -2.317 % EFE
-0.051 -2.385 | =EHRE
-0.046 -2.164|%* WEE
-0.041 -1.909|* Wz R
-0.045 -2.120 % EBER
-0.046 -2.163 %% FIRE
-0.045 -2.115[%* HARE
-0.045 -2.139 %% HEE
-0.047 —2.219|** BELR
-0.045 -2.122|%* FEE
-0.046 2174 % R
-0.046 -2.152%x wE)NR
-0.047 -2.210 % Eibl
-0.046 -2.158 % EWE
-0.046 —2.181 [ ** AR
-0.047 -2.192[%x BHE
-0.049 -2.293 %% ITET]
-0.042 -1.973|%* EHE
-0.047 -2.219 % I 2R
-0.045 —2.141 | %x FRE R
-0.044 —2.087 | ** MR
-0.045 -2.110%* =ER
-0.045 -2.098 % HER
-0.046 -2.143 % AT
-0.047 -2.211 % ABRAF
-0.046 -2.160** EEE
-0.045 2110 =BE
-0.054 -2.527 %% PR
-0.048 -2.282 %% BmIE
-0.050 -2.377 % BRE
-0.046 -2.185 % LS
-0.044 -2.080 | ** LBE
-0.045 -2.124 %% ="}
-0.051 —2.417 % BEE
-0.048 —2.275 [k FIE
-0.047 -2.199 [ FEE
-0.048 -2.276 %% EEIR
-0.042 -1.997 % 2R
-0.050 -2.363 % EER
-0.048 -2.275 % RIgE
-0.046 -2.174|%* AR
-0.050 -2.355 %% KB
-0.047 -2.233 %% TIEE
-0.049 -2.309 [* ERER
-0.052 -2.426 | ** RE
GDP/GDPP 0.078 3.691 [Hx
PDLO1 0.535 26.390 [tk
PDL02 0.002 0.067
F—EVSYD5H%  DEGREE=1  SC=N EC=N
2013 FEHEEFER
@pch(PGDP)| __ f&¥k tfE
0 (L) 0.535 26.390 [*%%
1 (RiTA) 0537 26.803 [#k
a5 1072 57.563 [#kx
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